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The Paradox of
Stillness

For Chamber Ensemble and Electronics

By Aidan Gold



Instrumentation

Clarinet in Bb- in 1 movement doubles 3 crystal glasses, tuned:
C, Dq and Eb. The glasses may be amplified if necessary.

Violin
Amplified (or Electric) Guitar

1 Percussionist: 5-octave Marimba, Vibraphone, Crotales (high
octave), Thundersheet, Sizzle Cymbal, China Cymbal, Tam-tam,
2 Timpani (26 and 29”), Conga, Bass Drum,

Misc. Metal/Wood/Glass/Garden Wind Chimes

Piano (strings accessible)™

Electronics (movement I only)

*The piano should be prepared with a tuning fork, which should be placed in the spot in the
piano where the D3 and D2 strings overlap (if no such spot exists in the piano that is being used,
the performer should prepare either the D3 or D2 string with the tuning fork). The prongs of the
tuning fork should be pushed in between both of the strings all the way so that the tips of the
prongs are touching the wooden base of the piano below the strings.



Performance Notes: Movement I

This piece should be performed with a conductor, who will control the
electronics in Movement I. The electronics is a single track, which consist mainly
of pitched sounds which are notated in its own separate staff in the score. The
conductor will conduct and also trigger the electronics to begin at the specified
point in the score. The conductor should then watch the electronics and conduct the
musicians to keep them in sync with the electronics.

Performance Notes: Movement 11

Movement II begins attaca while the tam-tam 1is still ringing over from Movement
I, but after the electronics have stopped. This movement has brief sections of fully
notated metrical material, but mostly consists of repeated cells in the various
instruments. The movement is divided into five large sections, marked A, B, C, D,
and E in the score.

The conductor’s role in this movement is to pulse the given tempo in sections A, B,
D, and E (by “pulse” I mean conduct but not in a pattern). (Section C is in free,
often seconds-based time which is estimated by the performers and thus the
conductor should not pulse in this section, and should only cue each dashed
barline). Each section is divided further with dashed barlines. These barlines
denote the entrances and exits of various instruments, which should be cued by the
conductor. The score has approximate timeframes between each dashed and double
barline, but the conductor and performers are free to expand and contract each
section, as long as the proportions are loosely maintained. Note that sometimes
these dashed barline-divided sections may span multiple systems or pages even
when they are listed as having a relatively short duration. This is because all the
cells that a performer will play for the whole duration of their black line are
notated at the point of their entrance, as is explained below.

In each large section, when a player comes in, they will have something
resembling the following (there may be as many as 15 or more cells that may span
multiple systems):

Cell 1 Cell 2 Cell 3 Cell 4




The solid line will continue either to the end of the large section (a double bar), or
to a dashed barline, and may pass through any number of other dashed barlines.
The performer should begin by repeating cell 1 in the tempo that the conductor is
pulsing, and should attempt to stay with the conductor’s beat throughout all the
sections (except C, which is not conducted). After the performer has repeated cell 1
some number of times, they move on to cell 2, and so on in order (never going
back to previous cells). The performer should attempt to pace themselves so that
they are at the last cell by the end of their solid line, and each cell should be played
at least once, but beyond this there is no restriction on the amount of times to
repeat each cell.

IMPORTANT NOTE: All the performer’s cells that they play for the duration of
their solid line are written out at the beginning of the line. The line may continue
through dashed barlines and across score systems. This does NOT mean that the
performer should have played all their cells by the time they hit the first dashed
barline/system break that their line passes through! (e.g. the first entrance of the
percussionist in the 2" movement: the system only lasts 5 seconds until the next
dashed barline, but the 4 cells repeated by the percussionist will last until the end
of their solid line, which is not until the beginning of the second section at
rehearsal B. I have chosen to notate in this way to emphasize the fact that the times
at which the performer switches to the next cell is entirely up to them.

In the brief sections of this movement that are notated in traditional metric
notation, those who still have solid lines from their boxed cells running through
this music should continue playing their cells as they did in the sections without
barlines.

This 1s an example of what one of the cells to be repeated may contain:

6-7x 2-5x
I|: Gesture 1 ‘I Gesture 2 ( short rest ) I‘ Gesture 3 ‘I
(a rest)




When the performer plays this cell, they will repeat Gesture 1 the given number of
times (6-7 in this example), then play Gesture 2. Sometimes, such as if Gesture 1 is
an eighth note long and the performer repeats it an odd number of times, they may
end up on an offbeat with respect to the conductor’s pulse. If that is a possibility in
a cell, there will be a short rest (usually an eighth rest) in parenthesis, which the
performer can use to get back onto the beat with the conductor. Then, the
performer will repeat Gesture 3 (often the last gesture of a cell is a rest) 2-5x, then
immediately go back to the beginning of the cell and repeat.

As an example, the following cell:

Conga China Cym.
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Any dynamics found within cells are relative to the larger dynamic motions written
outside of the cells. At some points, a performer may have a dynamic marking at a
dotted barline through which they have a solid line- this does not imply anything
about what particular cell the performer should currently be on; it simply means
that the performer should apply that dynamic marking to the cell they happen to
currently be repeating.



Special Notation

All Instruments:

= niente

= the sharpened note lowered by a quarter tone.

= the natural note lowered by a quarter tone.

= the flat note lowered by a quarter tone.

1= = T, . T = =, ]

= the flat note raised by a quarter tone.

= the natural note raised by a quarter tone.

= = = = N

= the sharpened note raised by a quarter tone.

= play the rhythm of the headless notes, using the pitches given in the
e stemless notes in any order, with repetition (exactly those notes-
not octave transpositions).

A-Bx
I| |I Repeat the figure between the repeat signs anywhere from A to B amount of times
oo before proceeding.

[ I T T T % % i = speed up (out of time)
E % % T T I I 1: slow down (out of time)

= perform a glissando while still articulating the marked



Clarinet:

£

—=play as high as possible (no specific pitch)
Violin:

6 = Bartok pizz.

—MM—— = while bowing a note, briefly “jitter” the bow to cause a quick interruption in the
sustained sound.

L n i 0 )

= perform a harmonic gliss. freely on
the open string with the written pitch.

Guitar:

é = pluck string so that it snaps back against the fingerboard.

Percussion:

Note: to produce the quarter tones listed above on bowed vibraphone, use a hard mallet (similar
to in the pitch bending technique), but instead of bowing and then bending the pitch with the
mallet, have the mallet already positioned on the bar when the bowing begins so that the
sounding note is approximately the quarter tone notated.

o = on the vibraphone bar notated, press the hard pitch bending mallet in the center of the bar
while bowing. The note sounding should be two octaves higher.

— = (on conga) slap (with the hand)

Piano:

== = an octave harmonic. Produced by touching a finger to the midpoint of the bottom note’s
string and playing that note on the keyboard. Sounds the pitch of the diamond note head.

= strum the strings inside the piano, approximately in the register notated.

o] *
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